

## Estimate 95445-Total

Estimated Cost:\$47,238,445.00

Contingency: 0.00%

**Estimated Total: \$47,238,445.00**

Final Estimate for Plan File

**Base Date: 09/17/25**

Spec Year: 23

Unit System: E

Work Type: ASPHALT

Highway Type:

Urban/Rural Type: URBAN CLASS

Season: SUMMER

County: LICKING

Latitude of Midpoint: 400325

Longitude of Midpoint: -823037

District: 05

Federal Project Number: E161298

State Project Number:

*Prepared by Brian Harlow*

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					

Group 0001: ROADWAY

0001	201E11000	1.000	LS	\$50,000.00000	\$50,000.00
CLEARING AND GRUBBING					
0002	202E20010	7.000	EACH	\$500.00000	\$3,500.00
HEADWALL REMOVED					
0003	202E23000	143,725.000	SY	\$10.00000	\$1,437,250.00
PAVEMENT REMOVED					
0004	202E30700	413.000	FT	\$40.00000	\$16,520.00
CONCRETE BARRIER REMOVED					
0005	202E32000	72.000	FT	\$25.00000	\$1,800.00
CURB REMOVED					
0006	202E35100	330.000	FT	\$25.00000	\$8,250.00
PIPE REMOVED, 24" AND UNDER					
0007	202E35101	119,632.000	FT	\$4.00000	\$478,528.00
PIPE REMOVED, 24" AND UNDER, AS PER PLAN					
0008	202E35200	52.000	FT	\$75.00000	\$3,900.00
PIPE REMOVED, OVER 24"					
0009	202E38000	3,012.500	FT	\$4.00000	\$12,050.00
GUARDRAIL REMOVED					
0010	202E38001	12,512.500	FT	\$6.00000	\$75,075.00
GUARDRAIL REMOVED, AS PER PLAN					
0011	202E38300	325.000	FT	\$8.00000	\$2,600.00
GUARDRAIL REMOVED, BARRIER DESIGN					
0012	202E42010	11.000	EACH	\$250.00000	\$2,750.00
ANCHOR ASSEMBLY REMOVED, TYPE E					
0013	202E42040	12.000	EACH	\$125.00000	\$1,500.00
ANCHOR ASSEMBLY REMOVED, TYPE T					
0014	202E47000	4.000	EACH	\$150.00000	\$600.00
BRIDGE TERMINAL ASSEMBLY REMOVED					
0015	202E47800	7.000	EACH	\$400.00000	\$2,800.00
IMPACT ATTENUATOR REMOVED					
0016	202E48000	3,417.000	FT	\$3.00000	\$10,251.00
CABLE BARRIER REMOVED					
0017	202E58100	27.000	EACH	\$750.00000	\$20,250.00
CATCH BASIN REMOVED					

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					
0018	202E70000	392.000	FT	\$35.00000	\$13,720.00
SPECIAL - FILL AND PLUG EXISTING CONDUIT					
0019	202E98100	40.000	EACH	\$50.00000	\$2,000.00
REMOVAL MISC.: UNDERDRAIN OUTLET					
0020	203E10000	37,389.000	CY	\$20.00000	\$747,780.00
EXCAVATION					
0021	203E20000	32,809.000	CY	\$20.00000	\$656,180.00
EMBANKMENT					
0022	203E35111	1,856.000	CY	\$80.00000	\$148,480.00
GRANULAR MATERIAL, TYPE B, AS PER PLAN					
0023	204E10000	5,433.000	SY	\$3.00000	\$16,299.00
SUBGRADE COMPACTION					
0024	204E13000	3,954.000	CY	\$23.00000	\$90,942.00
EXCAVATION OF SUBGRADE					
0025	204E30010	3,954.000	CY	\$65.00000	\$257,010.00
GRANULAR MATERIAL, TYPE B					
0026	204E45000	77.000	HOUR	\$250.00000	\$19,250.00
PROOF ROLLING					
0027	204E50000	5,000.000	SY	\$1.50000	\$7,500.00
GEOTEXTILE FABRIC					
0028	204E50001	2,784.000	SY	\$1.50000	\$4,176.00
GEOTEXTILE FABRIC, AS PER PLAN					
0029	204E51000	10,433.000	SY	\$2.00000	\$20,866.00
GEOGRID					
0030	206E10500	5,915.000	TON	\$220.00000	\$1,301,300.00
CEMENT					
0031	206E11000	228,550.000	SY	\$1.50000	\$342,825.00
CURING COAT					
0032	206E15010	228,550.000	SY	\$3.50000	\$799,925.00
CEMENT STABILIZED SUBGRADE, 12 INCHES DEEP					
0033	206E30000	1.000	LS	\$30,000.00000	\$30,000.00
MIXTURE DESIGN FOR CHEMICALLY STABILIZED SOILS					
0034	209E60500	10.180	MILE	\$1,750.00000	\$17,815.00
LINEAR GRADING					
0035	606E15100	15,625.000	FT	\$20.00000	\$312,500.00
GUARDRAIL, TYPE MGS WITH LONG POSTS					

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					
0036	606E19001	25.000	EACH	\$90.00000	\$2,250.00
GUARDRAIL POST, STEEL, AS PER PLAN					
0037	606E26150	10.000	EACH	\$2,750.00000	\$27,500.00
ANCHOR ASSEMBLY, MGS TYPE E					
0038	606E26550	9.000	EACH	\$1,350.00000	\$12,150.00
ANCHOR ASSEMBLY, MGS TYPE T					
0039	606E35002	2.000	EACH	\$1,600.00000	\$3,200.00
MGS BRIDGE TERMINAL ASSEMBLY, TYPE 1					
0040	606E55010	1,430.000	FT	\$50.00000	\$71,500.00
SPECIAL - CABLE BARRIER WITH CONCRETE LINE POST FOUNDATION					
0041	606E55150	3.000	EACH	\$4,000.00000	\$12,000.00
SPECIAL - CABLE BARRIER, ANCHOR ASSEMBLY					
0042	606E60012	1.000	EACH	\$7,500.00000	\$7,500.00
IMPACT ATTENUATOR, TYPE 1 (BIDIRECTIONAL)					
0043	606E98000	250.000	FT	\$10.00000	\$2,500.00
GUARDRAIL, MISC.: <i>EXISTING W-BEAM FOR SHOULDER SUPPORT BENCHING</i>					
0044	606E98000	12,538.000	FT	\$10.00000	\$125,380.00
GUARDRAIL, MISC.: <i>SHOULDER SUPPORT BENCHING</i>					
0045	622E10140	16,486.000	FT	\$250.00000	\$4,121,500.00
CONCRETE BARRIER, SINGLE SLOPE, TYPE C1					
0046	622E10160	57.000	FT	\$300.00000	\$17,100.00
CONCRETE BARRIER, SINGLE SLOPE, TYPE D					
0047	622E24860	1.000	EACH	\$13,000.00000	\$13,000.00
CONCRETE BARRIER END SECTION, TYPE C1					
0048	622E25000	2.000	EACH	\$6,000.00000	\$12,000.00
CONCRETE BARRIER END SECTION, TYPE D					
0049	622E25014	115.000	EACH	\$9,000.00000	\$1,035,000.00
CONCRETE BARRIER, END ANCHORAGE, REINFORCED, TYPE C1					
0050	622E25050	2.000	EACH	\$5,500.00000	\$11,000.00
CONCRETE BARRIER, END ANCHORAGE, REINFORCED, TYPE D					
0051	623E40520	180.000	EACH	\$150.00000	\$27,000.00
RIGHT-OF-WAY MONUMENT, TYPE B					
0052	623E40900	56.000	EACH	\$300.00000	\$16,800.00
MONUMENT, MISC.: <i>CENTERLINE MONUMENT IN CONCRETE BARRIER</i>					
0053	623E50000	1.000	LS	\$12,000.00000	\$12,000.00

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					

PRECONSTRUCTION SURVEY MONUMENT VERIFICATION AND REPORT

0054	623E51000	1.000	LS	\$12,000.00000	\$12,000.00
POST CONSTRUCTION SURVEY MONUMENT VERIFICATION AND REPORT					

0055	690E98300	705.000	SY	\$65.00000	\$45,825.00
SPECIAL - NO MOW STRIP					

Total for Group 0001:\$12,503,397.00

Group 0002: EROSION CONTROL

0056	601E21050	78.000	SY	\$130.00000	\$10,140.00
TIED CONCRETE BLOCK MAT WITH TYPE 1 UNDERLAYMENT					

0057	601E32200	11.000	CY	\$300.00000	\$3,300.00
ROCK CHANNEL PROTECTION, TYPE C WITH FILTER					

0058	659E00100	2.000	EACH	\$115.00000	\$230.00
SOIL ANALYSIS TEST					

0059	659E00300	600.000	CY	\$45.00000	\$27,000.00
TOPSOIL					

0060	659E00510	51,873.000	SY	\$1.00000	\$51,873.00
SEEDING AND MULCHING, CLASS 2					

0061	659E14000	2,594.000	SY	\$1.00000	\$2,594.00
REPAIR SEEDING AND MULCHING					

0062	659E15000	2,594.000	SY	\$1.00000	\$2,594.00
INTER-SEEDING					

0063	659E20000	7.000	TON	\$750.00000	\$5,250.00
COMMERCIAL FERTILIZER					

0064	659E31000	10.700	ACRE	\$50.00000	\$535.00
LIME					

0065	659E35000	295.000	MGAL	\$1.00000	\$295.00
WATER					

0066	659E40000	117.000	MSF	\$50.00000	\$5,850.00
MOWING					

0067	670E00500	5,400.000	SY	\$2.00000	\$10,800.00
SLOPE EROSION PROTECTION					

0068	832E15000	1.000	LS	\$10,000.00000	\$10,000.00
STORM WATER POLLUTION PREVENTION PLAN					

0069	832E15002	1.000	LS	\$50,000.00000	\$50,000.00
------	-----------	-------	----	----------------	-------------

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					

STORM WATER POLLUTION PREVENTION INSPECTIONS

0070	832E15010	1.000	LS	\$25,000.00000	\$25,000.00
STORM WATER POLLUTION PREVENTION INSPECTION SOFTWARE					

0071	832E30000	500,000.000	EACH	\$1.00000	\$500,000.00
EROSION CONTROL					

Total for Group 0002:\$705,461.00

Group 0003: DRAINAGE

0072	602E20000	2.300	CY	\$3,800.00000	\$8,740.00
CONCRETE MASONRY					

0073	605E11100	67,372.000	FT	\$15.00000	\$1,010,580.00
6" SHALLOW PIPE UNDERDRAINS					

0074	605E13300	3,338.000	FT	\$22.00000	\$73,436.00
6" UNCLASSIFIED PIPE UNDERDRAINS					

0075	605E13500	200.000	FT	\$50.00000	\$10,000.00
6" ROCK CUT UNDERDRAINS					

0076	605E14000	46,491.000	FT	\$10.00000	\$464,910.00
6" BASE PIPE UNDERDRAINS					

0077	605E31100	200.000	FT	\$20.00000	\$4,000.00
AGGREGATE DRAINS					

0078	611E00510	602.000	FT	\$35.00000	\$21,070.00
6" CONDUIT, TYPE F FOR UNDERDRAIN OUTLETS					

0079	611E00900	2,238.000	FT	\$30.00000	\$67,140.00
6" CONDUIT, TYPE B					

0080	611E01400	200.000	FT	\$30.00000	\$6,000.00
6" CONDUIT, TYPE E					

0081	611E01500	400.000	FT	\$30.00000	\$12,000.00
6" CONDUIT, TYPE F					

0082	611E04400	90.000	FT	\$150.00000	\$13,500.00
12" CONDUIT, TYPE B					

0083	611E04600	32.000	FT	\$150.00000	\$4,800.00
12" CONDUIT, TYPE C					

0084	611E05900	1,334.000	FT	\$160.00000	\$213,440.00
15" CONDUIT, TYPE B					

0085	611E07400	77.000	FT	\$200.00000	\$15,400.00
------	-----------	--------	----	-------------	-------------

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					
	18" CONDUIT, TYPE B				
0086	611E08900	26.000	FT	\$275.00000	\$7,150.00
	21" CONDUIT, TYPE B				
0087	611E10400	20.000	FT	\$225.00000	\$4,500.00
	24" CONDUIT, TYPE B				
0088	611E13400	40.000	FT	\$350.00000	\$14,000.00
	30" CONDUIT, TYPE B				
0089	611E16400	16.000	FT	\$500.00000	\$8,000.00
	36" CONDUIT, TYPE B				
0090	611E96600	412.000	FT	\$900.00000	\$370,800.00
	CONDUIT, BORED OR JACKED				
0091	611E99110	34.000	EACH	\$18,000.00000	\$612,000.00
	INLET, NO. 3 FOR SINGLE SLOPE BARRIER, TYPE C1				
0092	611E99574	1.000	EACH	\$7,000.00000	\$7,000.00
	MANHOLE, NO. 3				
0093	611E99654	10.000	EACH	\$1,500.00000	\$15,000.00
	MANHOLE ADJUSTED TO GRADE				
0094	611E99710	31.000	EACH	\$600.00000	\$18,600.00
	PRECAST REINFORCED CONCRETE OUTLET				

Total for Group 0003:\$2,982,066.00

Group 0004: PAVEMENT

0095	254E01000	378,596.000	SY	\$1.50000	\$567,894.00
	PAVEMENT PLANING, ASPHALT CONCRETE (1.50" DEPTH)				
0096	254E01001	10,654.000	SY	\$2.50000	\$26,635.00
	PAVEMENT PLANING, ASPHALT CONCRETE, AS PER PLAN (VARIABLE DEPTH - 3.55" MAX.)				
0097	255E20000	39,296.000	FT	\$3.50000	\$137,536.00
	FULL DEPTH PAVEMENT SAWING				
0098	302E66001	34,570.000	CY	\$200.00000	\$6,914,000.00
	ASPHALT CONCRETE BASE, AS PER PLAN				
0099	304E20000	37,741.000	CY	\$85.00000	\$3,207,985.00
	AGGREGATE BASE				
0100	407E20000	62,961.000	GAL	\$4.00000	\$251,844.00
	NON-TRACKING TACK COAT				
0101	408E10001	4,021.000	GAL	\$5.00000	\$20,105.00
	PRIME COAT, AS PER PLAN				

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					
0102	441E50100	3,411.000	CY	\$235.00000	\$801,585.00
ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG70-22M					
0103	442E00100	20,881.000	CY	\$8.00000	\$167,048.00
ANTI-SEGREGATION EQUIPMENT					
0104	442E10087	11,627.000	CY	\$230.00000	\$2,674,210.00
ASPHALT CONCRETE INTERMEDIATE COURSE, 12.5 MM, TYPE A (446), PWL 2025, AS PER PLAN (PG64-22/PG64-28)					
0105	442E10331	12,377.000	CY	\$220.00000	\$2,722,940.00
ASPHALT CONCRETE SURFACE COURSE, 12.5 MM, TYPE A (447), PWL 2025, AS PER PLAN (PG70-22M)					
0106	442E20170	9,657.000	CY	\$220.00000	\$2,124,540.00
ASPHALT CONCRETE INTERMEDIATE COURSE, 12.5 MM, TYPE A (448)					
0107	609E24510	36.000	FT	\$50.00000	\$1,800.00
CURB, TYPE 4-C					
0108	617E10100	7.000	CY	\$175.00000	\$1,225.00
COMPACTED AGGREGATE					
0109	617E10101	560.000	CY	\$80.00000	\$44,800.00
COMPACTED AGGREGATE, AS PER PLAN					
0110	618E40600	17.460	MILE	\$800.00000	\$13,968.00
RUMBLE STRIPS, SHOULDER (ASPHALT CONCRETE)					
0111	690E98400	1.000	LS	\$10,000.00000	\$10,000.00
SPECIAL - PAVER MOUNTED THERMAL PROFILING					
0112	690E98400	1.000	LS	\$10,000.00000	\$10,000.00
SPECIAL - INTELLIGENT COMPACTION					
0113	874E20001	37,837.000	FT	\$3.00000	\$113,511.00
LONGITUDINAL JOINT PREPARATION, AS PER PLAN (PASS 1)					
0114	874E20001	37,837.000	FT	\$3.00000	\$113,511.00
LONGITUDINAL JOINT PREPARATION, AS PER PLAN (PASS 2)					

Total for Group 0004:\$19,925,137.00

Group 0005: TRAFFIC SURVEILLANCE

0115	625E29010	769.000	FT	\$15.00000	\$11,535.00
TRENCH, 30" DEEP					
0116	625E25908	2,232.000	FT	\$60.00000	\$133,920.00
CONDUIT, JACKED OR DRILLED, 725.052 (2")					
0117	809E99000	23.000	LS	\$3,500.00000	\$80,500.00
SPECIAL - ITS 809E00530 ITS JUNCTION BOX, 17x24x6 INCHES (EACH)					
0118	809E99000	13.000	LS	\$3,600.00000	\$46,800.00

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
	<b><u>Description</u></b>				
	<b><u>Supplemental Description</u></b>				
	SPECIAL - ITS				
	809E02000 32" ITS PULL BOX WITH PAD AND STANDARD LID ASSEMBLY, TYPE 2 (EACH)				
0119	809E99000	3,001.000	LS	\$5.00000	\$15,005.00
	SPECIAL - ITS				
	809E10000 TRACER WIRE (FT)				
0120	809E23100	84,100.000	FT	\$2.00000	\$168,200.00
	MICRO-DUCT INNERDUCT, 14/10				
0121	809E99000	19,854.000	LS	\$10.00000	\$198,540.00
	SPECIAL - ITS				
	809E23900 CONDUIT, 2" DIAMETER, HDPE (FT)				

Total for Group 0005:\$654,500.00

**Group 0006: TRAFFIC CONTROL**

0122	621E00100	656.000	EACH	\$30.00000	\$19,680.00
	RPM				
0123	621E54000	656.000	EACH	\$7.00000	\$4,592.00
	RAISED PAVEMENT MARKER REMOVED				
0124	625E32000	10.000	EACH	\$350.00000	\$3,500.00
	GROUND ROD				
0125	626E00102	4.000	EACH	\$10.00000	\$40.00
	BARRIER REFLECTOR, TYPE 1				
0126	626E00102	386.000	EACH	\$10.00000	\$3,860.00
	BARRIER REFLECTOR, TYPE 1				
0127	626E00110	181.000	EACH	\$12.00000	\$2,172.00
	BARRIER REFLECTOR, TYPE 2				
0128	626E00118	18.000	EACH	\$15.00000	\$270.00
	BARRIER REFLECTOR, TYPE 6				
0129	630E03101	930.000	FT	\$15.00000	\$13,950.00
	GROUND MOUNTED SUPPORT, NO. 3 POST, AS PER PLAN				
0130	630E04101	47.000	FT	\$28.00000	\$1,316.00
	GROUND MOUNTED SUPPORT, NO. 4 POST, AS PER PLAN				
0131	630E06400	278.400	FT	\$30.00000	\$8,352.00
	GROUND MOUNTED STRUCTURAL BEAM SUPPORT, S4X7.7				
0132	630E06500	103.700	FT	\$40.00000	\$4,148.00
	GROUND MOUNTED STRUCTURAL BEAM SUPPORT, W6X9				
0133	630E08000	344.000	FT	\$66.00000	\$22,704.00
	GROUND MOUNTED STRUCTURAL BEAM SUPPORT, W12X30				
0134	630E08600	15.000	EACH	\$43.00000	\$645.00
	SIGN POST REFLECTOR				

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					
0135	630E09000	28.000	EACH	\$600.00000	\$16,800.00
BREAKAWAY STRUCTURAL BEAM CONNECTION					
0136	630E72330	1.000	EACH	\$36,000.00000	\$36,000.00
OVERHEAD SIGN SUPPORT, TYPE TC-12.31, DESIGN 10					
0137	630E72420	3.000	EACH	\$95,000.00000	\$285,000.00
OVERHEAD SIGN SUPPORT, TYPE TC-15.116, DESIGN 2					
0138	630E79611	25.000	EACH	\$1,000.00000	\$25,000.00
SIGN SUPPORT ASSEMBLY, BARRIER MOUNTED, AS PER PLAN					
0139	630E80100	245.400	SF	\$25.00000	\$6,135.00
SIGN, FLAT SHEET					
0140	630E80200	1,558.000	SF	\$25.00000	\$38,950.00
SIGN, GROUND MOUNTED EXTRUSHEET					
0141	630E80224	1,498.800	SF	\$25.00000	\$37,470.00
SIGN, OVERHEAD EXTRUSHEET					
0142	630E82000	11.000	EACH	\$150.00000	\$1,650.00
SIGN BACKING ASSEMBLY					
0143	630E84010	6.000	EACH	\$15,000.00000	\$90,000.00
CONCRETE BARRIER MEDIAN OVERHEAD SIGN SUPPORT FOUNDATION, TY PE TC-21.50					
0144	630E84500	34.000	EACH	\$1,850.00000	\$62,900.00
GROUND MOUNTED STRUCTURAL BEAM SUPPORT FOUNDATION					
0145	630E84510	4.000	EACH	\$10,000.00000	\$40,000.00
RIGID OVERHEAD SIGN SUPPORT FOUNDATION					
0146	630E84900	33.000	EACH	\$20.00000	\$660.00
REMOVAL OF GROUND MOUNTED SIGN AND DISPOSAL					
0147	630E85100	54.000	EACH	\$80.00000	\$4,320.00
REMOVAL OF GROUND MOUNTED SIGN AND REERECTION					
0148	630E85400	12.000	EACH	\$175.00000	\$2,100.00
REMOVAL OF GROUND MOUNTED MAJOR SIGN AND DISPOSAL					
0149	630E86002	104.000	EACH	\$22.00000	\$2,288.00
REMOVAL OF GROUND MOUNTED POST SUPPORT AND DISPOSAL					
0150	630E86102	29.000	EACH	\$285.00000	\$8,265.00
REMOVAL OF GROUND MOUNTED STRUCTURAL BEAM SUPPORT AND DISPOSAL					
0151	630E86272	4.000	EACH	\$240.00000	\$960.00
REMOVAL OF GROUND MOUNTED PIPE SUPPORT AND DISPOSAL					

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					
0152	630E87400	11.000	EACH	\$150.00000	\$1,650.00
REMOVAL OF OVERHEAD MOUNTED SIGN AND DISPOSAL					
0153	630E89804	3.000	EACH	\$3,100.00000	\$9,300.00
REMOVAL OF OVERHEAD SIGN SUPPORT AND DISPOSAL, TYPE TC-15.11 5					
0154	642E00104	19.230	MILE	\$800.00000	\$15,384.00
EDGE LINE, 6", TYPE 1					
0155	642E00204	8.820	MILE	\$750.00000	\$6,615.00
LANE LINE, 6", TYPE 1					
0156	642E00300	0.010	MILE	\$30,000.00000	\$300.00
CENTER LINE, TYPE 1					
0157	642E00404	6,478.000	FT	\$1.00000	\$6,478.00
CHANNELIZING LINE, 12", TYPE 1					
0158	642E00500	89.000	FT	\$12.00000	\$1,068.00
STOP LINE, TYPE 1					
0159	642E01300	3.000	EACH	\$100.00000	\$300.00
LANE ARROW, TYPE 1					
0160	642E01322	4.000	EACH	\$100.00000	\$400.00
WRONG WAY ARROW, TYPE 1					
0161	642E01400	1.000	EACH	\$200.00000	\$200.00
WORD ON PAVEMENT, 72", TYPE 1					
0162	642E01510	7,406.000	FT	\$1.00000	\$7,406.00
DOTTED LINE, 6", TYPE 1					
0163	646E10010	0.390	MILE	\$11,000.00000	\$4,290.00
EDGE LINE, 6"					
0164	646E10110	0.180	MILE	\$7,000.00000	\$1,260.00
LANE LINE, 6"					
0165	646E10200	0.120	MILE	\$20,000.00000	\$2,400.00
CENTER LINE					
0166	646E10300	1,192.000	FT	\$2.00000	\$2,384.00
CHANNELIZING LINE, 8"					
0167	646E20300	10.000	EACH	\$175.00000	\$1,750.00
LANE ARROW					
0168	646E20400	6.000	EACH	\$215.00000	\$1,290.00
WORD ON PAVEMENT, 72"					

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					

Total for Group 0006:\$806,202.00

**Group 0007:** STRUCTURE REPAIR (LIC-16-14.151 SFN 4501772)

0169	202E98200	285.000	FT	\$75.00000	\$21,375.00
REMOVAL MISC.: <i>DETERIORATED DECK EDGES</i>					
0170	519E12300	75.000	SY	\$725.00000	\$54,375.00
PATCHING CONCRETE BRIDGE DECK - TYPE B					

Total for Group 0007:\$75,750.00

**Group 0008:** STRUCTURE REPAIR (LIC-661-0.034 SFN 4506333)

0171	512E10301	1,707.000	SY	\$15.00000	\$25,605.00
SEALING CONCRETE BRIDGE DECKS WITH HMWM RESIN, AS PER PLAN					

Total for Group 0008:\$25,605.00

**Group 0009:** STRUCTURE REPAIR (LIC-16-15.601 SFN 4500725)

0172	512E10301	2,856.000	SY	\$15.00000	\$42,840.00
SEALING CONCRETE BRIDGE DECKS WITH HMWM RESIN, AS PER PLAN					

Total for Group 0009:\$42,840.00

**Group 0010:** STRUCTURE REPAIR (LIC-16-17.194 SFN 4500830)

0173	202E11301	18.000	CY	\$650.00000	\$11,700.00
PORTIONS OF STRUCTURE REMOVED, AS PER PLAN					
0174	509E26000	1,284.000	LB	\$3.00000	\$3,852.00
GALVANIZED STEEL REINFORCEMENT					
0175	510E10001	256.000	EACH	\$20.00000	\$5,120.00
DOWEL HOLES WITH NONSHRINK, NONMETALLIC GROUT, AS PER PLAN					
0176	511E71100	18.000	CY	\$3,500.00000	\$63,000.00
CONCRETE, MISC.: <i>CLASS QC2 WITH ACCELERATING ADMIXTURE, APPROACH SLAB AND BACKWALL REPAIR</i>					
0177	512E10301	2,132.000	SY	\$15.00000	\$31,980.00
SEALING CONCRETE BRIDGE DECKS WITH HMWM RESIN, AS PER PLAN					
0178	516E14600	196.000	FT	\$20.00000	\$3,920.00
STRUCTURAL JOINT OR JOINT SEALER, MISC.: <i>3" BEJS EMSEAL</i>					
0179	516E31011	426.000	FT	\$75.00000	\$31,950.00
2" DEEP JOINT SEALER, AS PER PLAN (A)					

Total for Group 0010:\$151,522.00

**Group 0011:** MAINTENANCE OF TRAFFIC

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					
0180	251E01011	60.000	CY	\$400.00000	\$24,000.00
PARTIAL DEPTH PAVEMENT REPAIR (441), AS PER PLAN					
0181	253E02001	132.000	CY	\$500.00000	\$66,000.00
PAVEMENT REPAIR, AS PER PLAN					
0182	254E01000	5,000.000	SY	\$4.00000	\$20,000.00
PAVEMENT PLANING, ASPHALT CONCRETE (VARIABLE DEPTH - 3" MAX.)					
0183	301E56000	250.000	CY	\$250.00000	\$62,500.00
ASPHALT CONCRETE BASE, PG64-22, (449)					
0184	304E20000	250.000	CY	\$100.00000	\$25,000.00
AGGREGATE BASE					
0185	407E20000	3,600.000	GAL	\$4.00000	\$14,400.00
NON-TRACKING TACK COAT					
0186	408E10000	400.000	GAL	\$5.00000	\$2,000.00
PRIME COAT					
0187	410E12000	50.000	CY	\$75.00000	\$3,750.00
TRAFFIC COMPACTED SURFACE, TYPE A OR B					
0188	411E10000	30.000	CY	\$125.00000	\$3,750.00
STABILIZED CRUSHED AGGREGATE					
0189	441E70100	200.000	CY	\$350.00000	\$70,000.00
ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (449), PG70-22M					
0190	606E15051	50.000	FT	\$50.00000	\$2,500.00
GUARDRAIL, TYPE MGS, AS PER PLAN					
0191	606E26151	1.000	EACH	\$5,000.00000	\$5,000.00
ANCHOR ASSEMBLY, MGS TYPE E, AS PER PLAN					
0192	606E26551	1.000	EACH	\$2,500.00000	\$2,500.00
ANCHOR ASSEMBLY, MGS TYPE T, AS PER PLAN					
0193	611E05901	973.000	FT	\$100.00000	\$97,300.00
15" CONDUIT, TYPE B, AS PER PLAN					
0194	611E97011	643.000	FT	\$200.00000	\$128,600.00
SLOTTED DRAIN, TYPE 2, AS PER PLAN					
0195	611E98261	2.000	EACH	\$10,000.00000	\$20,000.00
CATCH BASIN, NO. 4 WITHOUT APRON, AS PER PLAN					
0196	611E98371	3.000	EACH	\$8,000.00000	\$24,000.00
CATCH BASIN, NO. 6, AS PER PLAN					
0197	611E98635	2.000	EACH	\$4,000.00000	\$8,000.00
CATCH BASIN RECONSTRUCTED TO GRADE, AS PER PLAN					

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					
0198	614E11110	1,250.000	HOURL	\$100.00000	\$125,000.00
LAW ENFORCEMENT OFFICER WITH PATROL CAR FOR ASSISTANCE					
0199	614E11300	1.000	EACH	\$50,000.00000	\$50,000.00
SPECIAL - WORK ZONE TRAFFIC SIGNAL (RAMPS A/B)					
0200	614E11300	1.000	EACH	\$50,000.00000	\$50,000.00
SPECIAL - WORK ZONE TRAFFIC SIGNAL (RAMPS C/D)					
0201	614E11630	4,788.000	FT	\$3.00000	\$14,364.00
INCREASED BARRIER DELINEATION					
0202	614E12380	38.000	EACH	\$2,500.00000	\$95,000.00
WORK ZONE IMPACT ATTENUATOR, 24" WIDE HAZARDS, (UNIDIRECTIONAL)					
0203	614E12420	1.000	LS	\$25,000.00000	\$25,000.00
DETOUR SIGNING					
0204	614E12484	10.000	EACH	\$150.00000	\$1,500.00
WORK ZONE INCREASED PENALTIES SIGN					
0205	614E12500	15.000	EACH	\$170.00000	\$2,550.00
REPLACEMENT SIGN					
0206	614E12600	40.000	EACH	\$70.00000	\$2,800.00
REPLACEMENT DRUM					
0207	614E12756	1.000	EACH	\$60,000.00000	\$60,000.00
WORK ZONE CROSSOVER LIGHTING SYSTEM					
0208	614E12800	977.000	EACH	\$20.00000	\$19,540.00
WORK ZONE RAISED PAVEMENT MARKER					
0209	614E13000	50.000	CY	\$250.00000	\$12,500.00
ASPHALT CONCRETE FOR MAINTAINING TRAFFIC					
0210	614E13310	2,941.000	EACH	\$12.00000	\$35,292.00
BARRIER REFLECTOR, TYPE 1 (ONE-WAY)					
0211	614E13310	777.000	EACH	\$12.00000	\$9,324.00
BARRIER REFLECTOR, TYPE 1 (BIDIRECTIONAL)					
0212	614E13350	1,638.000	EACH	\$17.00000	\$27,846.00
OBJECT MARKER, ONE WAY					
0213	614E18000	50,000.000	EACH	\$1.00000	\$50,000.00
MAINTAINING TRAFFIC, MISC.: SAFETY REPAIRS					
0214	614E18000	2.000	EACH	\$25,000.00000	\$50,000.00
MAINTAINING TRAFFIC, MISC.: WORK ZONE CAMERA					
0215	614E18601	160.000	SNMT	\$1,000.00000	\$160,000.00

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					
PORTABLE CHANGEABLE MESSAGE SIGN, AS PER PLAN					
0216	614E20110	37.000	MILE	\$750.00000	\$27,750.00
WORK ZONE LANE LINE, CLASS I, 6", 642 PAINT					
0217	614E22110	144.570	MILE	\$1,000.00000	\$144,570.00
WORK ZONE EDGE LINE, CLASS I, 6", 642 PAINT					
0218	614E23200	75,582.000	FT	\$1.00000	\$75,582.00
WORK ZONE CHANNELIZING LINE, CLASS I, 8", 642 PAINT					
0219	614E24202	44,506.000	FT	\$1.00000	\$44,506.00
WORK ZONE DOTTED LINE, CLASS I, 6", 642 PAINT					
0220	614E26200	171.000	FT	\$15.00000	\$2,565.00
WORK ZONE STOP LINE, CLASS I, 642 PAINT					
0221	614E30200	7.000	EACH	\$100.00000	\$700.00
WORK ZONE ARROW, CLASS I, 642 PAINT					
0222	615E10000	1.000	LS	\$750,000.00000	\$750,000.00
ROADS FOR MAINTAINING TRAFFIC					
0223	615E20000	6,350.000	SY	\$70.00000	\$444,500.00
PAVEMENT FOR MAINTAINING TRAFFIC, CLASS A					
0224	616E10000	99.000	MGAL	\$20.00000	\$1,980.00
WATER					
0225	617E10100	50.000	CY	\$180.00000	\$9,000.00
COMPACTED AGGREGATE					
0226	621E00100	1,758.000	EACH	\$30.00000	\$52,740.00
RPM					
0227	621E54000	1,758.000	EACH	\$7.00000	\$12,306.00
RAISED PAVEMENT MARKER REMOVED					
0228	622E41100	103,020.000	FT	\$15.00000	\$1,545,300.00
PORTABLE BARRIER, UNANCHORED					
0229	622E80000	42,500.000	FT	\$4.00000	\$170,000.00
GLARE SCREEN					
0230	626E00110	4.000	EACH	\$50.00000	\$200.00
BARRIER REFLECTOR, TYPE 2					
0231	808E18700	300.000	SNMT	\$800.00000	\$240,000.00
DIGITAL SPEED LIMIT (DSL) SIGN ASSEMBLY					

Total for Group 0011:\$4,891,715.00

<u>Line #</u>	<u>Item Number</u>	<u>Quantity</u>	<u>Units</u>	<u>Unit Price</u>	<u>Extension</u>
<u>Description</u>					
<u>Supplemental Description</u>					

Group 0012: INCIDENTALS

0232	108E10000	1.000	LS	\$25,000.00000	\$25,000.00
CPM PROGRESS SCHEDULE					
0233	690E98000	120,000.000	EACH	\$1.00000	\$120,000.00
SPECIAL - <i>DISPUTE RESOLUTION BOARD</i>					
0234	111E10100	9,250.000	EACH	\$1.00000	\$9,250.00
SPECIAL - DEPARTMENTS SHARE FACILITATED PARTNERING COSTS					
0235	614E11000	1.000	LS	\$2,000,000.00000	\$2,000,000.00
MAINTAINING TRAFFIC					
0237	623E10001	1.000	LS	\$50,000.00000	\$50,000.00
CONSTRUCTION LAYOUT STAKES AND SURVEYING, AS PER PLAN					
0238	623E11000	1.000	LS	\$20,000.00000	\$20,000.00
PROVIDING ELECTRONIC INSTRUMENTATION					
0239	624E10000	1.000	LS	\$2,250,000.00000	\$2,250,000.00
MOBILIZATION					

Total for Group 0012:\$4,474,250.00